@A TR £50\ FUMDn

Through-type Terminal Block

o gig.o E v F,Pitch 16mm
| 2 & |F2057E-PKCT
17 16 16 17 Type Number
T 1%
I R /@ e AC600V  75A
- + BRI 500V 1000MQ Bl £
'ﬁ' - :A Insulation Resistance | DC500V 1000MQ and over
; o 3 S RIRHR =9 i ® E | 2500V 1 SRELLE
ﬁ ' : Withstands Voltage |AC2500V 1 minute and over
I I 2 EE B
§=J i S M . Colm_patigleé Wire 22.0mm’
4 13 3 17
E —f&% /N7 /General Tolerance +0.5
j(__ ’ REEScale \s  HAL Unit mm‘
b))
H

2
I
2 3
5
=
&
e hN—RURFHEGTHEA T a v i) 3O THEL OB
I — RET SV,
! ‘ ‘ ® The cover and the marking strip are optionally available.
o o b N Hre o 75— % o R B A SO SRR - CT % 713
—r NN N “‘— PKTEMRAT SV,
® To obtain a cover or a marking strip, and “- CT "or“PKT" at the end of
the ordering form.
3.1 |13 16 ® N — R OFLH S AL AT E OB R B PKCTE D

FLAT SV A= R URE S Ho ISR L TIAZKL 57

® To obtain a cover a marking strip, and “PKCT” at the and of the ordering

o 3y (A ] —— e 2B ] —— ]

® Ordering Form : Type No. ~ Screw Diameter  No. of Poles (P)

O EHE A LA MV 2 1E M5 252.4N-m, M6 %%3.0N-m T,
(M5 & M64H ) FTOTHIFET S\)

® Connection screw : Tightening torque is M5 : 2.4 N-m, M6 : 3.0 N-m.

form. The cover and the marking strip will be delivered separately.

(Specify either M5 or M6 for a connecting screw)
ezt 7 ay ka—PE—2Z (F2L17)
® Other options *Jumper (F2117)

B4 Specifications.

8%, Part No. % #/Part Name # B,/ Material #R1& / Standard ik Size $LEB / Treatment fis %, Remark
1 M5 (A) Base (A) PBT UL 2 fi Black
2 W7 (B)  Base(B) PBT UL T fn Black
3 e Base (C) PBT UL 2 &  Black
4 HEMNR Terminal # 4 Brass C2680R R OE £ 2.5 | 2y VAvE Nickel-Plated
5 FhERRE A Screw # 4§l Brass C2700W MRZO-8X15 0 | v MavE Nickel-Plated | PWSWHEAAFA Typels
6 HMFEARIV N Connecting bolt #  steel SWRM M3X0.5 Z{PAb Trivlent Chromate Treatment FN
7 FLETEEM Marking strip | HYA—KFAB Polycarbonate UL WOE S 1.0 H fu Whie
8 JIN— Cover RUH—KRAAL  Polycarbonate UL OJE t0.8 % B Transparence
9 #iEF v b Connecting nut # steel SWRM M3X0.5 ZffPmA-h Trvalent Chromate Treament
10 ATW/777v%= Spring washer g  steel SWCH M3 For M3 | Zf/ma-b TrvdentChromae Treament
11 AfiFy b Hexagon nut # 4§l Brass C3604B Mez9-s =y VA% Nickel-Plated
12 A= Spacer PBT UL B fi Black

#8%1, Poles 1P| 2 | 3 |45 ]| 6 71819 |10 11]12

A 47 | 63 | 79 | 95 | 111 | 127 | 143 | 159 | 175 | 191 | 207 | 223
B 34 50 66 82 98 | 114 | 130 | 146 | 162 | 178 | 194 | 210
C 19 | 35 | 51 | 67 83 | 99 | 115 | 131 | 147 | 163 | 179 | 195

130



